
SAP ABAP table RTP_US_TOT {Total amounts for a retirement plan}

RTP_US_TOT

CLIENT [CLNT (3)]

BKKRS [CHAR (4)]

PLAN_NUMBER [CHAR (15)]

TAX_YEAR [NUMC (4)]

AMOUNT_ID [CHAR (2)]

CONTRIB_ID [CHAR (2)]

IRS_DCODE [CHAR (1)]

IRS_SCODE [CHAR (1)]

CURRENCY [CUKY (5)]

RTP_US_PLAN

CLIENT [CLNT (3)]

BKKRS [CHAR (4)]

PLAN_NUMBER [CHAR (15)]

 RTP_US_TOT-PLAN_NUMBER = RTP_US_PLAN-PLAN_NUMBER 
0..N

1

T000

MANDT [CLNT (3)]

 RTP_US_TOT-CLIENT = T000-MANDT 
0..N

1

TBKK01

MANDT [CLNT (3)]

BKKRS [CHAR (4)]
 RTP_US_TOT-BKKRS = TBKK01-BKKRS 0..N

1

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 RTP_US_TOT-CURRENCY = TCURC-WAERS 
0..N

1

TRTP_US_AMNTID

CLIENT [CLNT (3)]

AMOUNT_ID [CHAR (2)]

 RTP_US_TOT-AMOUNT_ID = TRTP_US_AMNTID-AMOUNT_ID 

0..N

1

TRTP_US_CONT

CLIENT [CLNT (3)]

CONTRIB_ID [CHAR (2)]

 RTP_US_TOT-CONTRIB_ID = TRTP_US_CONT-CONTRIB_ID 

0..N

1

TRTP_US_DIST_S

IRS_CODE [CHAR (1)]

 RTP_US_TOT-IRS_DCODE = TRTP_US_DIST_S-IRS_CODE 

0..N

1

 RTP_US_TOT-IRS_SCODE = TRTP_US_DIST_S-IRS_CODE 

0..N

1


